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NEW QUESTION 1

A network administrator is implementing a routing configuration change and enables routing debugs to track routing behavior during the change. The logging
output on the terminal is interrupting the command typing process. Which two actions can the network administrator take to minimize the possibility of typing
commands incorrectly? (Choose two.)

A. Configure the logging synchronous global configuration command

B. Configure the logging delimiter feature

C. Configure the logging synchronous command under the vty

D. Press the TAB key to reprint the command in a new line

E. increase the number of lines on the screen using the terminal length command

Answer: CD

NEW QUESTION 2
Refer to the exhibit.

R1&# sh ron | begin ine con
hna con o
excc-timeout O O
privilege: level 15
Togyoing synechronmos
stopbits 1
line aux o
axac-timeaut O 0D
privilege lovel 15
logging synchronous
sloptuls 1
line vy 0 4
password 7 045802150C2E
Ioggin

hna vy & 15
password 7 045802150C2E
login
I
cnid
R1# sh run | nclude aaa | enable

no aaa new-model
R1&#

Which privilege level is assigned to VTY users?

N e
w

cow>
o

Answer: D

NEW QUESTION 3
A client device fails to see the enterprise SSID, but other devices are connected to it. What is the cause of this issue?

A. The hidden SSID was not manually configured on the client.

B. The broadcast SSID was not manually configured on the client.

C. The client has incorrect credentials stored for the configured hidden SSID.

D. The client has incorrect credentials stored for the configured broadcast SSID.

Answer: A

NEW QUESTION 4
Drag and drop the description from the left onto the correct QoS components on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Traffic Policing: Drops excessive Traffic, causes TCP retransmissions, introduce no delayl/jitter Shaping: buffers, excessive traffic, introduce delay and jitter,

typically delays, rather than drops traffic

NEW QUESTION 5

If a VRRP master router fails, which router is selected as the new master router?

A. router with the highest priority
B. router with the highest loopback address
C. router with the lowest loopback address
D. router with the lowest priority

Answer: A

NEW QUESTION 6
Refer to the exhibit.

Antanna Azimuth Plana Partam

Aunitgnine E

S aTon Plan

& Patienm

Which type of antenna do the radiation patterns present?

A. Patch

B. Omnidirectional
C. Yagi

D. Dipole

Answer: A

NEW QUESTION 7

Which access controls list allows only TCP traffic with a destination port range of 22-433, excluding port 80?

A. Deny tcp any any eq 80 Permit tcp any any gt 21 it 444

B. Permit tcp any any ne 80

C. Permit tcp any any range 22 443 Deny tcp any any eq 80
D. Deny tcp any any ne 80Permit tcp any any range 22 443

Answer: A

NEW QUESTION 8
Which exhibit displays a valid JSON file?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 9
Which DNS lookup does an access point perform when attempting CAPWAP discovery?

A. CISCO-DNA-CONTROLLER local

B. CAPWAP-CONTROLLER local

C. CISCO-CONTROLLER local

D. CISCO-CAPWAP-CONTROLLER local

Answer: D

NEW QUESTION 10
Refer to the exhibit.

SN2 SW3
P LI o2 g
E=3 . =

Gil/3 Po30 Gil/3
Interface gil/EZ
Channael—group 30 mods dasirabls
Por -E}”— nnzel load-kEalance sroc—1p
Interface gil/3
Channal —group 20 mods desirakls
Fort-—-cha el load-balance src-1p
Intaerface PortChannel 320
Sw hport 1 runk
Switchport encapsulation doblag
Switchport trunk allowsd wlan 10-100

A port channel is configured between SW2 and SW3. SW2 is not running a Cisco operating system. When all physical connections are mode, the port channel
does not establish. Based on the configuration excerpt of SW3, what is the cause of the problem?

A. The port channel on SW2 is using an incompatible protocol.

B. The port-channel trunk is not allowing the native VLAN.

C. The port-channel should be set to auto.

D. The port-channel interface lead balance should be set to src-mac

Answer: A

NEW QUESTION 10
Which standard access control entry permits from odd-numbered hosts in the 10.0.0.0/24 subnet?

A. Permit 10.0.0.0.0.0.0.1

B. Permit 10.0.0.1.0.0.0.0

C. Permit 10.0.0.1.0.0.0.254

D. Permit 10.0.0.0.255.255.255.254

Answer: C

NEW QUESTION 12

Which LISP infrastructure device provides connectivity between non-sites and LISP sites by receiving non-LISP traffic with a LISP site destination?
A. PETR

B. PITR

C. map resolver

D. map server

Answer: B

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version 350-401 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/350-401-dumps.html (100 Q&AS)

NEW QUESTION 14
Which action is the vSmart controller responsible for in an SD-WAN deployment?

A. onboard vEdge nodes into the SD-WAN fabric

B. distribute security information for tunnel establishment between vEdge routers

C. manage, maintain, and gather configuration and status for nodes within the SD-WAN fabric
D. gather telemetry data from vEdge routers

Answer: B

NEW QUESTION 18
Which QoS component alters a packet to change the way that traffic is treated in the network?

A. Marking
B. Classification
C. Shaping
D. Policing

Answer: A

NEW QUESTION 19
Which two methods are used by an AP that is typing to discover a wireless LAN controller? (Choose two.)

A. Cisco Discovery Protocol neighbour

B. broadcasting on the local subnet

C. DNS lookup cisco-DNA-PRIMARY .localdomain
D. DHCP Option 43

E. querying other APs

Answer: CD

NEW QUESTION 22
Which method displays text directly into the active console with a synchronous EEM applet policy?

A. event manager applet boom event syslog pattern 'UP'action 1.0 gets 'logging directly to console'

B. event manager applet boom event syslog pattern 'UP'action 1.0 syslog priority direct msg 'log directly to console’
C. event manager applet boom event syslog pattern 'UP'action 1.0 puts 'logging directly to console'

D. event manager applet boom event syslog pattern 'UP'action 1.0 string 'logging directly to console'

Answer: B

NEW QUESTION 26
What is the correct EBGP path attribute list, ordered from most preferred to the least preferred, that the BGP best-path algorithm uses?

A. weigh

B. AS path, local preferenc

C. MED

D. weight, local preference AS path, MED
E. local preference weight AS path, MED
F. local preference, weight MED, AS path

Answer: B

NEW QUESTION 28

What are two benefits of virtualizing the server with the use of VMs in data center environment? (Choose two.)
A. Increased security

B. reduced rack space, power, and cooling requirements

C. reduced IP and MAC address requirements

D. speedy deployment

E. smaller Layer 2 domain

Answer: BD

NEW QUESTION 31

Which controller is the single plane of management for Cisco SD-WAN?
A. vBond

B. vEdge

C. vSmart

D. vManage

Answer: D

NEW QUESTION 34
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An engineer configures a WLAN with fast transition enabled Some legacy clients fail to connect to this WLAN Which feature allows the legacy clients to connect
while still allowing other clients to use fast transition based on then OLTIs?

A. over the DS
B. adaptive R
C. 802.11VvV

D. 802.11k

Answer: B

NEW QUESTION 39
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